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If a four letter meaningful word can be formed by using the second, fourth, sixth
and seventh letters of the word “JOURNAL" then what is the second letter from
the left end of the newly formed word? Mark X as your answer if more than one
word is formed. Mark Z if no meaningful word can be formed.
qfe ereg "Sete” F gAY, G919, B N A HER T 3YANT FF TN HEW
$T HYYUT 2Aeg TAT ST Fohedl ¢ ol AT & ¥eq & dI¢ BR A AT 4T
g2 IR tH A s s FAT § AN X &) 39 3R & T A FY| Ife
FE ATAF g AGI ST ST HhdT & Y Z U AT ey

A.R
B.A
C.L
D.X
E.Z
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g aFdaP,Q,J,M, W,R KT, UL
AR I A sH ISR d5 & o vld=
qfFd A T geeT S &1 dFa-1 A &S
safFaal &1 7@ TR A AR 3 A afFa-2 A
3 s aal F1 q@ i@ e Ay s ¥ )
gfa F AT A For ¥ K ST F S
ard 43T S ) A AR 3HE I RIFFT F
FfaA SR W dergl Q,Ra?ramm
ATFd & 910 F N T W AST ] U T
HE 3 AT AT AT TIHR L F S as
AfFaa fraEdr, PR M F T S
AFaA T TEATA A FA LI P, Q HT
ﬁmtrs’maﬁ%nmwaﬁﬂm
TIafFa FT 3T M, W &F a9 & EY T
W dergl

h:2:()() g

Ten persons P, Q,J, M, W, R, K, T, U andrI

are sitting in two parallel rows, such that
five members are sitting in each row. The
persons sitting in Row-1 faces north and
the persons sitting in Row-2 are faces
south direction.

J sits in middle of the row. K sits immediate
left of the person who faces J. R sits at
extreme end of the row. Q sits third to the
left of the person who faces R. U faces
north direction. The number of persons sit
between T and L is two less than that of the
number of persons sit between P and M. P
IS not an Immediate neighbour of Q. T
doesn’t sits at extreme end of the row. M
sits third to the left of W.
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1,

Ten persons P, Q,J, M, W, R, K, T, U and b
are sitting in two parallel rows, such that
five members are sitting in each row. The
persons sitting in Row-1 faces north and
the persons sitting in Row-2 are faces
south direction.

J sits in middle of the row. K sits immediate
left of the person who faces J. R sits at
extreme end of the row. Q sits third to the
left of the person who faces R. U faces
north direction. The number of persons sit
between T and L is two less than that of the
number of persons sit between P and M. P
IS not an Immediate neighbour of Q. T
doesn’t sits at extreme end of the row. M
sits third to the left of W.
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43) If W is related to T and L is related to Q in a certain way. 41) Who sits opposite to P?

Then, who among the following is related to K? 1Cl'f% W T q P%ﬁ'ﬂﬂﬁﬁ?aﬁr%‘?
Haftd 8 iR L U fAf3a a8l @ 0 A wefta g1 @,  a)K

fAufefad d A #19 k @ Hdfa g2 b)R

a)U c)T

b)T d)yJ

Y e)None of these

d)J

e)P
42) Who sits second to the left of U?
U % aTT & gX R TR B 98182
a)R
p)T
c)K
d)J

e)None of these
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44) Who sits diagonally opposite to P?
P fovd fArfila s o122

a)R

b)L

c)M

d)J

e)Data insufficient

45) Which of the following statement(s) is/are true?

I.W and Q are sitting in the same row

11.0Only one person sits between K and U

I11.R and L doesn’t sits at extreme end of the row
a)Only |

b)Only I and Il

c)Only 11

d)Only I and 1|

e)All I, I and 111
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e cafFa v, o, @, A, §, vw, sh sk ow Eight persons A, B, C, D, E, F, G and H were

U €1 I H TS 3TeraT-37eT Al A e born in eight different months in the same
) . PR year viz., January, March, April, May, June,
31e1¢d 3R RAdeR aAfher ST =161

TEHTATI July, August and  September but not

AR A deresm ar s 30 Rargly necessary in the same order.

FlakprAwdraa@aderevdHar A was born in a month which has 30 days.
STeAD A AF TR BT UTIHR G IR HF Two persons were born between A and D. H
AT aFd it S cFA-AD A was born just before D and two persons

qﬁgaﬂml C 3N E & o I e were born between G and H. G was born
SToH 3T UT| F HTSA+H E J Ug AT UTI B

T ST T8 &3 4TI 3rder ST 23171 B before D. Four people were born between C

W EFNTFA Y FHOF AT FISTH and E. F was born before E. B doesn’t born
g3 el In April. At least one person born between B
o

and E.
e e el
> QOO &

e
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Eight persons A, B, C, D, E, F, G and H were
born in eight different months in the same
year viz., January, March, April, May, June,
July, August and  September but not
necessary in the same order.

A was born in a month which has 30 days.
Two persons were born between Aand D. H
was born just before D and two persons
were born between G and H. G was born
before D. Four people were born between C
and E. F was born before E. B doesn’t born
In April. At least one person born between B
and E.
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48) Who among the following persons was born 46) Who among the following persons born inJuIy’?‘
Immediately after B? mﬁﬁmwﬁrmwmﬁ@n
fafefad safeal § & o9 B & 416 a1g Uar 87
g3lT YI? a)A
a)The one who was born on May b)B
b)The one who was born on April c)D
C)A d)C
d)D e)E
e)Data Insufficient January(31)
March(31) B ‘ 47) How many persons were born between D and E?

April(30 F DWE%@?WW%@Q”

EoaaE Jone
o) | a[prk

July(31) ‘ d)Four
August(31) ‘ e)None of these

Septemoerc0| 0
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|

50) Which of the following statement 49) Four of the five among the following are
correct? similar in such a way that form a group, which
1)B was born on March one of the following does not belongs to the
11)D was born on last Month p?

_ group
;')'())/I:I\)’/V?S DorLsTaetoreE g-;ri%«lfaa A9 UTH QIR 5 ;lgw A §
ool TS A )
c)Only 111 J = - I
d)Only I and 11 clacind s S M 0)B
e)AIl I, 11 and 111 Mafch(31) B |

I
nf
netol | A |

July(31) ‘
August(31) ‘

Septemoerc0| 0
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Arun walk 4m from point A towards north direction to reach point B and then he turn his righm
walks 8m to reach point C. Then he moves 4m in south direction to reach point D. Then he moves 4m in
west direction to reach point E. Then he turns right and stop at point F after walking 8m. Wﬁg AW
SR M P R 4 gear g SR figB W Ugaarg SR MR ag g geai g SR fAgC W ugai &
ﬁl%gqrﬁmél ﬁwagﬁngugaﬁ%%&mmnﬁﬂﬁm%l fipe 98 Tdg E W UgeH
& fore uf3 fa=m & 44} weran g1 fhe 98 S gsdr ¢ SR sWl 9a+ & q1¢ fdg F IR $&har g |

51) What is the shortest distance between Fand C?
a)7V2m

b)4N2m

c)3V2m

d)26m

e)None of these

52) Point B is in which direction with respect to point D?
a)North east

b)South east

c)North West

d)North
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53) In a certain way the word “CAPTURE” Is written as “ EYRRWPG”,
then how will “TRANSMI” is written in the same way?

a)VPCLUKK

b)SPCLUKR

¢c)VPCLKUK

d)VPCKLKK

e)VPCULKK
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'54) Seven persons A, B, C, D, E, Fand K are belongs to three different generations. D
Is wife of K, who is brother-in-law of E. F is brother of E. A is father-in-law of K. B Is

mother of F. C is daughter of D. A has only one son. Then, how is E related to C? HId

e A, B, C, D, E, Faﬁ?K?ﬂqamﬂamﬂﬁ‘q‘rﬁwfﬁ?r%m K &1 Udl 8, Sl
EBTAIRIF, E T USRI A, K®TIYR 81 B, FHI A 81 C, D B 9l 81 A DI
¥aa TP AT 21 A1, E, C A by TP Gl 22

a)Aunt

b)Niece
c)Father
d)Mother
e)None of these
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55) How many pairs of letters are there in the word “ENCLAVE” each of which has
as many letters between them in the word as in the English alphabetical series?

}Teg “ENCLAVE” H 3&RI & T fohdq T &, ForH 9§ Udi® & d19 3d4 &1 31
¢ foraq i siieht quivrer e d &2

a)One

b)Two

c)Four

d)None

e)Three
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1

Eight persons Saran, Sara, Sandra, Siva,
Celine, Chandru, and Joseph are sitting around a
square table at an equal distance between them and
facing towards centre of the table. Two persons are
sitting at each side of the square. Sara sits second to
the right of Siva. David sits third to the left of Sara.
Joseph and Sandra are sitting opposite to each other
and none of them is an immediate neighbour of David.
Saran sits immediate left of Joseph. Celine sits
Immediate left of Chandru.

ARG Teh FATHR AT F TR A AT gH R3S 8 3R

A & g 1 AN 37HT 81 T F T AF fFar aval

SqfFd 43 81 N1 AT & g F @y Ty ar S ¢ 3fas

AR & a1 A R T W a7 1 S 3T Agr v g@y

F RAaiia 33 § 3t 319 @ 1§ 3t 3735 71 Rpeaer usiE

ggl I, SAE & 8 a1 37 ¢ | VelleT T & b ard
|
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58) Who sits third to the left of the one who 56) Who sits immediate left of David?
sits opposite to Sara? IRT & faudia 9s @ﬁ%’ & 3l a8 B a?ﬂ%‘?

i & 91 A TR TITH R $IH d318? a)Celine

a)Sandra b)Chandru

b)Joseph c)Siva

c)Siva d)Sandra

d)Saran e)None of these

e)None of these Celine  Joseph
: 57) Who sits opposite to Siva?

ﬁﬁ%ﬁqﬂaaﬁqaﬁr%‘»
a)Celine

b)Saran

c)David

Siva Sandra d)Sara

e)None of these
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59) Four of the five among the following are similar in such a
way to form a group, which one of the following doesn’t
belongs to the group? Fafifad & I Ui 7 | IR t® I4g
T & fow guE ¢, Fufafed 9 9«19 99z 9 dafta
el 82

a)Chandru, Celine

b)Joseph, Saran

c)Sandra, Siva

d)David, Chandru

e)Sara, Saran

Celine Joseph

Siva Sandra

60) Who is an immediate neighbour of Sara?
ART &1 frhedd TSkl &9 82

a)Sandra and Siva

b)Joseph and David

c)Saran and Sandra

d)Celine and David

e)None of these
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SBHE$13PT4#XYI@5ASNCIO97D*HIUIM1

61) How many such numbers are there in the above arrangement , each of which is immediately
preceded by a symbol and immediately follow by a number? SURIGd ATRIT H Qﬁf fa '\‘I@Tﬁ %',
Rrd 3 7 & 3% Ugd U Wedle 3R SV 91¢ TP HE&T 32

a)One

b)Two

c)Three

d)Four

e)None

62) Which of the following elements is third to the left of the element which is ninth from the right end?
fraffET A A H19 T dd R SR A 4 dd & I8 A TR VA R 82

a)™

0)S

c)C

d)A

e)None of these
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SHESL13PT4#XY9@5ASMNC97D*HIJUIM 1

63) Which of the following makes first element is exactly between second and third element?
fFrafafed § 9 o1 ygar da gar 3R dR ad & 31 d19 | a91a1 82

a)DCU

)INY

C)#YP

d)1EP

e)95A

64) If all the numbers are removed from the arrangement, then which of the following pairs of elements is

exactly in the middle? af¢ TaRIT & & JY TG=maii &1 gel fear s, df fAg O & &9 91 acdi &1 W
LEZCIEE: Kf

)@, A

D)A, S

C)A, N

d)C, A

e)None of these


http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ 0

SBHES13PT4#XY9@5ASMNC97D*HIJUIM 1

65) Four of the five among the following are similar in such a way to form a group.
Which one of the following doesn’t belongs to the group? Fufafea e d 9 IR
T IYg 9911 & fore aum= ¢ | Fafafaa o 3 o171 ayg 3 d&fea 981 82
a)H18

b)P43

C) #94

d)Y5X

e)S9A
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67) Statement:

All Hills are Mountains

No Falls are Hills

All Falls are River

Conclusion:

|.Some Hills are not River

I1.Some Mountain are Falls is a possibility

a)Both conclusion | and conclusion 11 follow

b)Only conclusion 11 follow

c)Either conclusion I or conclusion |1
follows

d)Neither conclusion I nor conclusion Il
follows

e)Only conclusion | follow
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66) Statement:

No Phone is Pen

No Pen is Pipe

Some Pen is Light

Conclusion:

|.Some Light are Pipe

11.Some Light are Phone

a)Only conclusion | follows

b)Only conclusion 11 follows

c)Either conclusion I or conclusion Il follows
d)Neither conclusion I nor conclusion Il follows
e)Both conclusion I and conclusion 11 follows
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69) Statement:

No Water is Solid

All Water are Gas

All Greece are Gas

Conclusion:

|.Some Gas are not Greece

I1.Some Gas are not Solid

a)Only conclusion | follow

b)Both conclusion | and conclusion 11 follow
c)Either conclusion | or conclusion Il follows
d)Neither conclusion | nor conclusion Il follows
e)Only conclusion Il follow
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68) Statement:

Some Chocolate are Dairy Milk

All Munch are Kitkat

All Kitkat are DairyMilk

Conclusion:

|.Some Munch being Chocolate is a possibility
I1.Some Dairy Milk is Munch

a)Only conclusion | follow

b)Only conclusion 11 follow

c)Either conclusion | or conclusion Il follow
d)Neither conclusion | nor conclusion Il follow
e)Both conclusion | and conclusion Il follows



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ 0

70) Statement:
Some Blue are Black
Some Black are Red
No Black 1s White
Conclusion:

|.Some White are Blue
11.No White is Blue
a)Only | follow

b)Only Il follow
c)Either I or |1 follows
d)Neither | nor 11 follows
e)Both | and 11 follow
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AT B4 M, N, 0, P, Q, R 3 S &Y AT 3TeT9T-37e1T
W#w#mwwmww%ﬁ:
A = aTel AP &) T A AT IATE, T &
FI JT FT 2 IR FH e TTA FW 1A AeH Bl
AR [FITIAT & 7. T qTFH ITAIT-3TelT
T A § A oTel, T, 3T, AR, Hielt, Jrerelt
A FTTI R, A FATAL, FIRA Y 30S
%ﬁaﬁr@m%lﬁqﬁmﬂ—m#w
ATl SIRMF AT IR Rea @ v §, sy et
T H | 16T M TR & A1 9T F&a1 a1 A
# T&T I § | AR T 1 ST oA 7 & SFd &
F FYT TG AT | I1FH O ATl LT H § 3 a1y
S & FYT TWT AT & | TG T & 91T & FIT W
9T STFH T HEAT X [T & A1 & A1 W AT
ST N TEAT A TF FHA L BTN, ReaTp &
FUR TET AT 31 3R 7 7 Bear, FrA WrF fEea &
e ST AL T@T AT |

mSISS

=

Seven Boxes M, N, O, P, Q, R and S are placeml
seven different shelves one above another such
that the bottommost shelf is numbered one, the
one above one is numbered 2 and so on till the
top most shelf is numbered 7. Each box is iIn
different in colours viz., Red, White, Brown,
Orange, Blue, Pink and Black. Not more than
two Boxes are placed above R, which is in Black
colour. The Box Q is placed in 3" shelf. Four
Boxes are placed between S and M, which is in
Blue colour. The box M is placed in odd
numbered shelf below R. Orange coloured box is
placed just above the Blue coloured box. The box
O is in red colour and placed above the box S.
Number of boxes placed above the White
coloured box is one less than that of number of
boxes placed below the Brown coloured colour
box. The Box N is placed above the box P. The
Brown coloured box does not placed
iImmediately above the Black coloured box.
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